[ Efficiency vs vertpos |
- 0.2

20.18F
‘g o
20.16
O -
§0.14
[ o
£0.12
0.4
0.08
0.06
0.04
0.02

0
1.4

Ratio

1.2

3
= L LT FHEF RN [ DR
+ +1 | B B

-l i - A -

1

1

2

[EnN
2
N
=
o
N

10 0
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWTepo10

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

0 .
L2freeeee ;

00 SR (R

Ratio

il
20 30
TP vert z (cm)

[ Efficiency vs. sim
~ 0.1

>
2 0.09

U

:,—)0.085—

20.07F

oy F T

< 0.06F 1 :

o E : :

o o . H

£ 0.05F : :

() E Py H

0.04F - heeeJifeeeedenene N (R oo
0.03F -+ i SRR Peedenens 3R S
0,02;—----r ----- A PN F R Ll

Y108 K RN S0 S e
10

o :

?G' p 1

hd 1Al:_ """"""" = ............
) RS S ............
055 I5 S0 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


